HEAEBEATR—LIS—)L FABER(O=YME) 2025447 ~
DEFH—ERE MKHIFEMEN GO 1B H-Y1000H THEINET,
_ NEERAY—ER A& A1B5GE0E 1Y)
SR BAY—ERE ol TEMALE | mamor 2BV EHE D75 SHRIED 7
BN 670241/ B oaifr/B R EIACIOE] 9830/ 45,6603/ 7 68,490/ B
B ) 74084/ B eaif/B | FHERECLOE 5000m/ 50,430F/ B 75,630/ / B
B3 8158 i/ eaifa/B  [FHEIACIOE] 97950m/ 55,5303/ & 83,310M/ B
B4 88621/ B eeif/BH | FHERECEOE 30180m/ 5 60,360/ 90,570/ A
=455 95581t/ B eaify/R [ EIACIOE] 5 500m/8 65,070M/ 5 97,620/ B
QBE-BEER
RIS ERME BE BiEE 308 H7=Y
#1RE 300R/H B80FI/B | SMMOORVR |ncmmnsy— 2 BEAHEICSY BBEO—HALOESLBES
a5 o ER 390F/ B 830F/ B 38.100F3/ MIENET, FHICOFFELTEBEFTVOOTHETFAAZTHERIZELY,
EE3ERRE (1) 650M/H 1,370M/8 60,600/ A
SFABE 1,800/ H 2,066[M/H 115,980/ A
1A B0R) Hi=-YDFAHE (ONBREAY—ER+QRE -BEE)
1 EPL womma() | memm | EE vl il
Bl 58,230/ / A 60,930M/ B 83,430M/ A 104,730/ 8 138,810/ /8 161,640/ /8 184,470/ B
E 2 60,600/ / B 63,300M/ B 85,800M/ B 107,100/ 8 141,180M/ 8 166,410/ 8 191,610/ 8
B €3 63,150M/ A 65,850/ / B 88,350/ / B 109,650/ 8 143,730/ 8 171,510/ 8 199,290/ B
Eori&4 65,580M/ A 68,280/ A 90,780M/ A 112,080/ A 146,160/ A 176,340/ H 206,550/ A
C 67,920/ H 70,620M/ H 93,120M/H 114,420M/ R 148,500/ A 181,050/ A 213,600M/H
Z DD ME XA RELDFDHBEICIGSCTMESNETS,
% & ¢ Ehr ¥ s | onason | shasos
MEAME AFTEM 5308 LIADEAEINE, 30Ei{i/H 30M/H 60/ H 90/ H
ISl JAEERECL IR L ARXIBIVADHR | semtn/m 246/ B 492F/ B 738F1/ B
BRERME ERDONAZICEIRERTRBLIZEE, 6Hifi/ B 6M/& 12/ & 18M/&
ADLIEFFEME (1) iﬂE%E&fﬁ%?gﬂ:ﬁﬁg'ﬂ"L AR 30miqm/ 30/ A 60/ A 90M/ A
Pttt EME (D) ?}?ﬁ%ﬁifﬁé@?ﬁ?@mﬂﬁ EINTHRE 10842/ R 10/ A 20M/H 30M/H
BEvrstmg(n)  ([BEOEECHRE) XIDOOEMLAMTIHL T quw/p 3M/ A 6M/ A oM/ A
FRABEBZEDADLIE., REINEE, OEEHEEE. FRRIEDIK
MEMNEEEARTNE(LD) [REOfbEDOKREFIRIERNGIFEREZELFE 40E {1/ A 40M/R 80M/R 120M/A
A~REL REGEREERALTVSIES,
SET=-H45HAT~31BHI T2Ef1/H 72M/8 1441/ H 216M/H
SET-H30HHI~4HA] 14481/ H 144/ /H 288M/H 432M/8
BRYMEME(CD)
SECHAET4 B, HIH 6805 i1/ H 680M/H 1360M/H 2040/ /8
T AmS 1280837/ H 1280M/H 2560/ /8 3840M/H
ZTOtDERKE
HERA 1,500 /1[E] ~
BEREMEA 184 100M/H
=50 sE 50,8 gggﬁﬁéﬂ\%ﬁgtb HETHEYITHLTEERLZABLTLV:
XEH ZEEE 3,000M/1@~

£S5




